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Q1. Mothers keep on (1)/ to encouraging
their children (2)/ to study. (3)/ No error (4)
A. Mothers keep on

B. to encouraging their children —

C. to study. IMI
D. No error
Answer: (b) Keep on doing something = continue

doing something. It is superfluous to use
preposition ‘to’.
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Q2. They will (1)/ leave the office at six and
(2)/ reach at home by seven. (3)/ No error
(4)

A. They will -

B. leave the office at six and I | I
C. reach at home by seven. M

D. No error

Answer: (c)
Reach (Verb) = to arrive at
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Q3. | am not familiar with (a)/ all the important
places in this town (b)/ although | had been
living here for two years. (c)/ No error (d)

A. | am not familiar with

B. all the important places in this town

C. although | had been living here for two years.
D. No error

Answer: (c) The work continued in the past and
still goes on.

Hence, Present perfect continuous i.e. although
| have been living here for two years .....
should be used here
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Q4. The receptionist gave us (a)) much
informations (b)/ which we needed. (c)/ No error

(d)

A. The receptionist gave us
B. much informations

C. which we needed.

D. No error

Answer: (b)

Information (Uncountable Noun) =
facts or details about
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Q5. Ravi Shankar’s performance was given
(1)/ a standing ovation by the (2)/ people who
has come to hear him. (3)/ No error (4)

A. Ravi Shankar’s performance was given

B. a standing ovation by the

C. people who has come to hear him.

D. No error

Answer: (c) The sentence shows past time.
Hence, Past perfect i.e. people who
had come to hear him ...... should be
used here.
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Q.6. (a)/ If | was you (b)/ |
would not (c)/ tolerate

him (d)/ for a moment.

(a) Change ‘'was’ into
‘were’'. 'Was' is not used
in imaginary position.
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Q.7. (a)/ Until the train will not
get (b)/ the signal, (c)/ it will
not (d)/ leave the platform.

(a) Remove will not’. Not' and
'will do not come after
‘unless’ /until. Change get
into ‘gets
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Q8. (a) If | had (b)) two
houses, (c)/ | would have

given (d)/ one to you.

(c) Change 'l would have given
into 'l would give'.
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Q9. (a)) Unless (b)) he will not

understand (c)/ the concept he (d)/
will not be able to solve the
questions.

(b) Change the will not
understand’ into 'he
understands’. ‘Not and
'will do not come after
'unless’.



SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q.10. (a)/ If he tried (b)/ again,
he can (c)/ pass the exam
(d)/ with flying colours.

(b) Change ‘can’
into ‘could’. The
sentence is in past.
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11. See eye to eye
A. to be against
B. to agree

C. to pacify

D. none of above

Answer: Option B
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12. Spartan life

A. Living life full | . 2 I

B. Life of ascetic M

C. Live life under
someone

D. Very painful life

B) Life of ascetic
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13. Set people by

ears —
A. to incite people |M|

B. to listen carefully
C.to give long
speech

D.

to abuse
A) to incite people
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14. Choose the correct
antonym for the word
“Accord”.

A. Concord

B. Solution

C. Dissent Answer: Option (C)

D. Act Solution: Dissent is the
antonym of accord.
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15. Choose the correct antonym

for the word “Alive”.
A. Drowsy
B. Dead
C. Asleep
D. Passive

Answer: Option (B)
Solution: Dead is the antonym of
alive.



SSC CGL/CHSL TIER 2 (CRASH COURSE)

16. Choose the correct antonym for the

word “Overt”.
A. Secret
B. Unwritten
C. Deep
D. Shallow

Answer: Option (A)
Solution: Secret is the antonym
of overt.
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17. Choose the correct antonym for the

word “Moist”.
A. Crisp
B. Dry
C. hard
D. Parched

Answer: Option (B)
Solution: Dry is the
antonym of moist.
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18. Choose the correct antonym for the

word “Addition”.
A. Division
B. Multiplication
C. Enumeration
D. Subtraction

Answer: Option (D)

Solution: Subtraction is
the antonym of
addition.
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Q19. We have to plant more trees
we can save our environment

from the evils of pollution.
A. so as

B. since as

C. such that

D. so that

Answer: (d)
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Q20. They needn’t worry
?

A.isn’t it
B. doesn't it
C.don’tit
D. need they

Answer: (d)
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Q21. Researchers from various institutes have
come up with ways to utilize the plastic

waste that cannot be recycled further or are
recyclable.

A. Criminal
B. Innovative
C. Wonderful
D. Multiple

Answer: (b) Innovative - New and
advanced, Innovation - the action of
making an action innovative.
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Q22. | prefer to ride than

to walk.
A. riding to walking
B. ride to walk
C. riding than walking
D. No Improvement

Answer: (a)
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Q23. If a person is able to see what is wrong

with oneself, he can improve fast.
A. what is wrong with himself

B. what is wrong in oneself

C. what are the wrongs in one self
D. No correction required

Answer: (a)
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Q24. The students often

play Ludo, didn’t they ?
A. can they?

B. is indeed ? P
C. don’t they? @

D. No improvement

Answer: (c)
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Q25. She has a passion of music.
A.in
B. with

C. for
D. No improvement

Answer: (c)
‘passion’ is followed by ‘for’. Therefore it should
be ‘for’ in place ‘of’.
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Home Work

/

Find the Antonym
ENCOURAGE

A. Dampen

B. Disapprove

C. Discourage

D. Warn
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